4

/x,
%

1P-1
52° 10" 52.15"
40.0000
19.5876
36.4293

s
Vs

S
%

K2-1 (KBM. 1)

H=559. 616 \

559. 60

7
<5

ST I ITTITITILS

oo
550. 52 \ 1154990

1-5
J H=550. 335
BRNFRI IR . "

H=560.206 ]

=757 4n2

R2 = EE4395 =-
I1%4 REA%EE HEIZE (3)

BRE%E | -REE 4305

ISER | ZHHRALBWUES (F378)

R&E% TER
BR 1:250 ‘ HEES 1/ 24
244

S
s,

%
%

o, 8

\ $2%% | AERENKERER RIZGH =HTE
%4,
0,



550. 206

KBM. 2

g

RiBEH =

ER

'3

sy
8

ERRAHE

u e
L
H
E:
= _
R
- 4 &
nj e o
@ R
o g =
2 4
x5
o} 3|«
Tl =
H B 1
nl & 1=
- o' =
By = | n
7
-~ #F =
o] m
90N e | -
eV 1SS TTev 16 98y LTl T 9EV L 17037 & | H
W
<
4o
006 °159)1006 195 1718155 920°0 1000702} T000 0} 970N M_
s EAREY
wm w o
g3 | T
]
S
i< s
I 0097255 T16v 298 67070 70000l [ 8LL0 J0O'OI+G ON[ | S g
L5 ¢85 786V ¢85 670°0 Tccc 601 T ¢ge v Ldsy |87 =
T3
T =
0087755 TLYL 2GS £50°0 [000°501 T 000°S ] 00°§+GON |~ &
=4
001655 1089 298 0zv°0 1000001 T 000°G G0N
2) 007 €95 T€L0 05§ [26°¢  T000°G6 T €66°¢ T0O GL+p ON
@
2)
o\
> 079655 TOLL 1S 008°L TLOO'LE T LOO'L 1ogf
’ ﬁf 00£°€55 T1ES 7168 691°¢C 00006 T000°0L T0O 0l+y ON
\ 00€ '#55 T€Y9 99§ £99°L 100008 T 000°8 ¥ ON
08L 955 T0TY G¥S 09¢°6 10002 T 00079 00°ZI+E ON
- 0v1°555 1098 °L¥S 082°L 100099 T 000°C T 009+¢ON
8
P 91€°555 1999065 059°v  T000°€9 T 000°C T 00E+E ON
N
co
oo . . . . . .
= 887955 TL¥8 2GS 1¥9°2 1000709 T 000°G € oN
—— H
o H_ R
<
T= % =< 80 0-=k 9L 7655 16087555 12100 000°65 T 000°G T00°GI+Z ON
| \
gz
1
4=
42 390 0-=K 001 °955)1p€0 959 1066 995 ¥P0°0 7000705 T 000°€ 100 0I+Z ON
2 - |
= B 570 0-=K 0617955 01 98 090°0 T000°Ly T 000°L T 00L+zON
n
7107 0-=F 8657955 781698 020°0 100007 T 000°L 20N
0007 0-=F 98956 1981955 6L0°0 T000°EE T 000°C 100°€L+l ON
000°L55 T916 9GS ¥80°0 10000 T 000°G 100 0L+l ON
927 °L9G T450 LSS LLL°0 7000762 T 000°G 100G+l ON
ﬂ 05y LSS T1LZ €SS 6L1°% 100002 T 009°C 10N
195 LSS T0¥6 7SS [29°%  T00VLL T 00¥'L 10V LL+0°ON
-
T
006°L55 1168598 60072 1000°0L T 00579 100°0L+0 ON N
<
N =
i g
£61 855 T9€2°855 T €70 °0 00§°¢ T 005°C T 0G€+0 0N .
TN 09€ '899)105¢ "85S 119855 [ L1070 000°0 700001 0°0N —
z 2
¢ 9
EY]
<
4o
2
®
- B
S
= 189855 1189 89S 000701~ T 00070 8
i
g 1T 17 0 1g 1T 117 17g T 1T 1T 1T¢g T T 1T T¢gr—7 — T
s s e = S &= e e s s B ¥ [ BR | =
© S £ 3 s wm W % =
0011 L= >
~ = & # H H = S , &0
o= 2 | 3 L=l =
S ~ = |
= - & ita = = b o B R | BHH | L | &
=8
e

H

#R
&it48

HE4
EES K]




FRERER (1/4)

S=1:60

B OB OB & o % % i
memy | wamm | 2w || & T
BEERE 40km/h Eq s 1.00 5.0 5.00
XBEERS N4 tEBET 0.35 10.0 3.50
EEE 90% TERBET 0.25 20.0 5.00
NO 0+17 4011_5& EHECBR 12.0 Hi 35.0 13.50
BHETA 12.3

ISWBHHEE
P g )
HEBBBE s-1:10
400 7000 2700
3 a+
750 21750 | 2750 750 E E ﬁ =
(ASEE  EREHCBRI2)
® R 3 B BEBHETRAI7LMEEY  t= Sem
#i—FL—J (Gr—C—28B) =
T < JUT LREBE HEBERE t=10cm
100 3
. 260,100
15 Bh B LB § TRB® BEISyor—5v t=20cm
FHEBE
BE®L (EPS) #ER k, %
1.50% 1.50%
- N e e _
2 Bt ‘v' > b BB B %
— 7
N
& I5vE7vh—, BfiE5A 4 00nME ® B3 £ R BEEHETRAI7LMES t= 5om
REBRH7UA—F T =177 83 kN/&) - ]
N\ /3 (MERA Td =15, 0KN/%) LEBE o LEBE  HEBERE t=100m
Bor. No. 1
7
NE -0 )
0 10 20 30 40 50
RQD I
a7ERE O \
BXITR o A S
0 20 40 60 80 100 v
Beged] —7
[626% S
6g5:d /33 X
00 N
G2eed o o
22200 = \ ;: &
beced || >4 7~
S5 T
A
] 50/15
bosod |
r/ SEEAT D19x2500
% B EAA 1. 400
% H-150x 150 x 7 x 10

I1%4%

BRE% | —REE 4395

I%EH | SHARASLES (F353)

HE4 BEKER (1/4)
H.W.L=539. 93 #R = | mzss ‘ 3/
ik

$x%% | ABRENKLLRER RIZHEH =HF%




H—FL—) (Gr—C—28B)

25 [ 5 2 B

RERER (2/4)

NO.2+10. 00ft3k

S=1:60

2000

Bor. No.3

I

NfE -

0 10 20 30 40 50
RQD .
A7RBE S
®XKI7R ©

0 20 40 60 80 100

6800

SR
=
=4

ISR
4
400 7000
750 2750 | 2750 /¢J 750
o
)
LAk 8%
400
1.50% 1 504 0
=
1200

—1 50/23

—1 50/3

1 50/10

100

100

100

100

R2 =+ EE439

%% $8838 WEIS (1)

BuEE | —REE 1398

IBEF | CETERSWAS (RI4E)

BE4 BERER (2/4)

R 1:60 BHEES ‘ 4/ 24

214

5354 | BRAENLARRS RIBES ZEA2




NfE

RQD

-

10 20 30 40 50

L

AT7ERE e

BKa7TR o
20 40 60 80 100

RERER (3/4)

679

11600

/32)

—

1638 100

% 100
H.W.1=539.12

): 0 100

di7| Jes

?{ﬁ

H-200x200x8x12

HHHEAT
RTEAHRA

D19 %3500
1. 00mf R

Iy
4,
0.,
3.

NO.3+12. 00ftik
o8
IS LB HEE g LS IRE T
400 7000 4600 /.
750 2750 N 2750 750 o
H—FL—N (Gr—C—28B) « et
A, .
100 §
1SmEnLE T
L& K&
400
EEE+ (EPS) % o
1.50% 1.50%
sl — aN\B.0
BRL O 3 |
Y5 F7yh—, BTEHE 4. 00nkRE
(WEBRFT7NA—A T =286.58kN/X)
(MHREA  Td =25 0KN/K)
Bor.No.2

30° 00

155 $8838 WEIS (1)
BuEE | —REE 1398
IBEF | CETERSWAS (RI4E)

HE4 BEKER (3/4)

R 1:60 ‘ HEES ‘ 5/ 24
214

5354 | BRAENLARRS RIBES ZEA2




FEMER (4/4)

S=1:60

NO.5 fisk 0.’

400 7000
750 2750 . 2750 750 ? - O.
5 5.0

O
H—FL—)(6r-C-28) . 0O,
° . O
(O

1.50% 1.504 .

- - O.

H e

o

wE: A Tt

o
ISENKEE
~
S
A
™
o
-0,
H.W.L=538.70 é-?N
150080

R2 =+ HEE43IS =-

I%% FEA%EE HETZE (3)

BRE% | —REE 4395

I%EH | SHEARASLES (F353)

H&Es BEWER (4/4)
#R 1:60 HEES ‘ 6/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




fabr R (1/16)

$=1:100

GH=558. 367 77%' 0+3.50
FH=558. 350 H=558. 236
FH=558. 193
; FENERTSUF
7000 700

3 £ 8| 5 @
B=4.0 ¥ £ @ | & @
B K |25sB<40 B=4.0
B<2.5 % K [2558<4.0
8240 B<2.5
| B otk [25<B<40 4.0
" B<2.5 #H| w4 [2558<40
1% 1.5 B<2.5
sl A P e * .y |_EP 14
E47] M ) & W
wEI £ 1 RN )
w1 LD
Ll wEEE (D)
EEER (BD)| 1B (]
P ) EEER (BL)| 1B
wEl 5 @ ;w[
EX) B
Flamer— #liEEE s
® ERXTEL wEl
Bty gl Bmze0 ® EDTDEN
- T<Brax<4.0 Wt|y g Bn0x240
= Bnax<1.0 . 1<Bnax<4.0
Ilavyy—+ Bmax<1.0
o ol & SHEDYIE
HEHHES g : - W :
[ ETTTT) A HEMRER S w
X ® B | RC-40 EE R 4| BBEER
W %% RE 401 X% B A| R4
i o [2RnE o L En E il
TRH®E 4.91 | m e LREEE 4.47
HEEIEN] | TREE 447
HEN 1T | PIEEIEN]
MEZIEST | Ble u|rEss |
HETTTT 1.9 MEXYEN Y |
MECENTD I [ BEEREL i5
‘[TEmamEmL I
H.W.L=540. 14
DL=530.000
. DL=530. 000
NO.0~NO0. 0+3. 50

R2 =+ HEiE439
I
4% %

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es BER (1/16)
#R 1:100 HEES ‘ 1/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




R (2/16)

$=1:100

NO. 0+5. 00 NO. 0+10. 00 .
= —_— BENFRT T K
GH#=558.18 GH=555. 891
FH=558. 125 FH=557. 900

0 7000 1000,
750, 2750 2150 750
T
v558. 19 [F L1756 3.25%
S V557,85
<, V557,20 S
<, V556.95
o
S
= —
3 o
b
r
S
v551.90
= o
S o V551.40
1 =
- = n
S 6.0
) T
% B E 8 | & @
Bz4.0
B K | 2558<40
% £ @8 | & & B<2.5
B=4.0 B=40
#® K [256<8<4.0 [ H| % 4 [2558<4 0
B<2.5 B B<2.5
824.0 EL) [ o6 |1s
U #| @ 4 [2558<40 A tlg| & 9 e |
B B<2.$ R tf}
clgl 5w E) [ 15 |25 wEl
L] l EEER (5)1) if‘b
L3 M EX) wEl
T me EEER (B1)| 1B
. £ t# 3.7 0.1
R () E B[y
| [FmEm@n| +» tleme 22 0.6 0.3
& ® k3 6.5 sl
wE ® ERZDED
EY) 0.6 |+ _[Braxz4.0
Flames— " 2 1<Bnax<4.0
* ERZYEL| =T Brax<1.0 0.2 0.1
5|+ _ [Bnax=4.0 HEPZIEDS
2 B [<gax<a 0 s W&
H.W.L=540.16 2z Bnax<1 0 7 H W, L=540 05 2 *ua
= j EEEA I - - : [LTrLT
= u S = # @
# @\ E BB 4| BHRER
- L] E R RN RC-40 0.6
HEMHER & @ iiﬁﬁ * B 6.50
¥ BB 4| BBEER HIPMELIE 5,60
X ®RAE RC-40 0.6 TREB® 6.70
EREIEN] 6.50 FIEEIEN: [ 320
is o [2E2E 560 & n 8| rEns 50
TE®S 6.70 FEXIE T | o016
PIEEEIEN [ 150 | MERREL 40 97
4B & | tEBE a0 ‘[ mEamEL T
MEZIEITT
R WERWAL 4.9 8.00
L FERamEL

X WBRER—O7IZE>EL0THE,
DL=530. 000 DL=530. 000 NO. 0+5.00~N0. 0+10. 00

R2 =+ [EiE439% =-
RAA%E HEIF ()

I1%4%

BRE% | —REE 4395

I%EH | SHARASLES (F353)

H&Es IR (2/16)
#R 1:100 HEES ‘ 8/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




flr = (3/16)

$=1:100

GH=552. 94
FH=557. 567
v561.97
0 7000 2700
750, 2750 2750 750
o
g
V557,51 _1.50% 1.50% X
2 " v556.97 [
® V556.10
—Bor-Wo. T
NE - E
01020 30 40 50 2
ROD -

|74
27ERE o [~

BAI7R o :
20 40 60 80100 V(L&
) V550,75 ﬁ‘"
/ 7>
“© ] ]
S B24.0 2.6
~ % K [26<8<40
B<2.5
824.0
H| % 4 [2558<40
* e T [ o3 2
# 1
tlEl A9 o |
b 1°7) PR, t#
fr=Tvhy e
(94— =2
HEEE (01—
EEEY EL)| TH
Ex) 1.9 0.6
* Ewen
) 0.6 0.7
3
EEEE— o
® I
Bty g [Bn20
T<Brax<4.0
|1
Bmax<1.0 0.2 0.5
I[avsU—+ 2.93
0 &
)
2 L
H.W.L=539.93 newnes 1L
= R LT [
% ® B A| R4 0.6 0.7
NEEIE §.50
3 LR 6.60
&
B TREEE 6.70
FIEEIES [ 320
Glm | rERS [ 310
PEXIE T [ omn
B SERREL 4.1 910
HETEET

ash

DL=530. 000 NO. 0+17. 40

R2 =+ [EiE439% =-
I%% RAA%E HEIF ()

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es HEE (3/16)
#R 1:100 HEES ‘ 9/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




L]

(4/16)

$=1:100

NO. 1+5. 00 NO. 1+7. 50
GH=557.054 GH=558. 18
FH=557.225 FH=557.113
FRTT YK
V561. 65
0 7000 1250 0 7000
150, 2150 2780 150 750 2750 2750 750
o) R 4 R
<
Ry A = 00 1500
S
S
3
N
v557.17 V557 06 .50% __1.50% | R
< - 2 =
~, V556, 45 o V556,45 ]
o
ol 3|
= &
e —
V553, 40 g Il =
g E \
2| A i
% B £ 8 | & @ % B Z 8 | & @
B24.0 B24.0
B OB | 2558<4.0 0.3 - B K | 2558<40
U B<2.5 0.6 B<2.5 0.7
840 8240
| @ 4 [255B<4.0 B Btk [2558<4.0
= B<2.5 = B<2.5
B 2.3 1.4 ) 51|20
tlg| K9 WEl % @ K9 wEl %
E ] N ) zlwl .. [ ®
-7y =7
I EX) — EX)
ERE (01— ERE (1)
EEER (ED| 1B EEER (BD)| 1B
Ex ) 1.9 0.7 Ex) 6.8 0.4
o 7] o 1
) 0.6 0.9 ) 0.6 .8
# 3
EEEE—on EEEE—on
® ERXIE ® ERZIEL
#t|y g [Bnaxzi0 Bty [ Bmzi0
- T<Brax<4.0 T . T<Brax<4.0
SL=2.7 =E Brax<1.0 0.2 [N =E Brax<1.0 0.2 12
HEDYIED 3.00 HERYIED
[ [
- V540,98 2 L 2 L
- Wm g| B @
H.W.L=539.98 wEmnRs L wEgHRS
E BB | BRURER 5.1 E A B 4| BRURER 3.4
3 X ® B oA RCA0 0.6 £ ® B | Ro-40 0.6 .8
) NI 6.50 AEEIEN 660
™ LEBE 6.60 e 6.60
# #
B TRBE 6.70 B TR®S 6.60
= FIEEIEN 115 FIEEIEN: |
S 8l m | rEBE [ res Gl n u| rRBE
FIEZIEE I 006 | 007 FEXIES T 066 | 009
] HERIEL 5.2 820 B BERmEL 5.3 66
avyu—t 9.08 L enamaL [ i3 L enanaL [
Bl gz = 7.0
S| BEMNES 7.0
e —
v ES 2.1
7 T
| [
— '; 7 R )
H ET)
EEEE [
REav Ut 2.1

X BBBER—OTIZEo 4D THE.
DL=530.000 DL=530. 000 NO. 1+5. 00~NO. 1+7. 50

R2 =+ EiE439%5 =
I%% RAA%E HEIF ()

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es HEE (4/16)
#R 1:100 HEES ‘ 10 / 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




DL=530.000

V557.06

NO. 1+7.50

GH=558.18
FH=557.113

0
750, 2750 2750

3000

700

o
<

200 1500

.50% 1.50%

L]

(5/16)

% B £ 8 | & @
824.0
B OB | 2558<4.0
B<2.5 2.0
B24.0
#| @ 4 [255B<40
B B<2.5 2.0
EX) [ 51
tlg| A9 Al |
o 1] R £
R
. ) EX)
HERE () — o
| [rEzp@s| i»
ET) 4.4 0.4
® # Al
Ex 1.8 1.8
[
EEEE o
* ERXDE
#|t] o [Bnaxz4.0
1 <Bnax<4.0
2|1
Bnax<1.0 0.3 T2
HEDYYE 2.62
. ] 2.3
® i 2.3
W& 2.3
HEMHRS — 3
E BB A BERER
£ B B OA| RC-40 2.4
MRS | 660
! TEBE 660
i
N T 660
FIEEIEN] |
Elm B | IEBE |
MEZIETT 065 | 009
HEETTT 53 65
‘EHamEL |

X BEREA-—0TIC&230DTHS,

S=1:100

V556,95

NO. 1+10. 00

GH=556.916
FH=557.000

0 7000

V561.45

200 1500

750, 2750 2750

750

1.50%

1000
Q
SL=3.1
_ v 540. 91
H.W.L=539. 91
= ™
)
o
2
IS
S
avyy—+ 9.94
) 7.0
man TR - :2
= > )
—_— | T
i - ¢ 0.3
— 5 2RI 0.5
- 1B 05
wmEE [0
[CEDTIETS 1
DL=530. 000

1.50%

3300

% #

£ 8 | & @

H H B

B24.0

B K | 255B<40

B<2.5

B24.0

B | 25sB<40

B<2.5

i®

g F 9 Rl

H %

=7y WED

i®

EEER (Y1) wED

EmEH (B1) 1%

F

®El

i®

AEBE WE

_ [ Bmaxz4.0

[
® ERZTED
E4
I

1=Bnax<4.0

Bmax<1.0

0.6

1.22

1.3

1.3

B (B |2 | B

6.60

6.60

6. 60

b3 | i

B OB rREBE

s

avyy—rBEL

0.25

[ 009

AR IR L

5.0 6.6

ERAREL

NO. 1+7.50~N0. 1+10. 00
R2 =+ MEiE439% = -

1% RRAES BEIF ()
BRE% | -mEE 4308

IEEF | SHRREAUAS (3158

H@E4A HUER (5/16)

R 1:100 EEES ‘ 11/ 24
214

5224 | BRREHLARER RIBGH ZHFE




700

(6/16)

$=1:100

L]

NO. 1+13. 00 NO. 2

GH=556.786 GH=556.518
FH=556. 865 FH=556.538

600,
Bor.No.3
V56229 T e
L] NiE -
200 }/5_(I)o 0_10 20 30 40 50
0 7000 R
I7BERE o
750, 2750 | 2750 750
BXITR o
/ 20 40 60 80100
V1559 {50 S
v S (1 50/23
3
(1 5073
: 2
V556. 81 =
I 5L
= / o]
¥
6.32 F— 50/10
Vv555.99
00
100
6 00
18| 60 00
& B E 8 | & @ % B £ 8 | & @
B24.0 B24.0
B K [2.55B<4.0 B OB | 2558<4.0
B<2.5 0.5 B<2.5 0.4
B24.0 824.0
#H| % 4 [2558<40 #| gt [255B<40
# e B [ 238 # B<25i,b [ (5.5
T® 8 (
tle| 9 i S R YT
I(Hlgypy P 2.2 I lwl__.. [ t® 2.1 2.00
f=Tvh f=In e
NEET) I EX)
HEER () e EEER () e
EEER(ED)] 1B EERN (ED| 1B
E3) 1.3 0.4 E3) 1.3 (1.4)
* B wen F B wen 0.2)
ED) 1.3 0.9 Y 1.3
3 #
BEEE—poT EEEE—p o
* avsu—H B EPZYE
Bty g [Bnz40 W|tly g [Bnax2e0
- 1<Brax<4.0 - 1<Brex<4.0 (6.6)
=T Brax<1.0 0.3 [N =T Bmax<1.0 0.3 (1.8)
I| #EEa |BwRER 32 I| EE#s |RURER (.2
\ W& , W@
# M 2 aw
R P
MEMRES HEEHRS
£ B B B[ RC-40 1.3 0.9 £ @B B| RC-40 1.3
NN EN 6 60 REEIEN: 660
rEBE 660 TEBE 6.60
i V540, i
B TRE® 6.60 T 540.76 B TRBE 6.60
NEEIEN] [ H.W.L=539.76 NEEIEN] [
A m u | rEnS & & | tEBE |
MEZIETT | KT = MEZIESTD 003 | (0.06)
B SERREL 4.7 6.6 ] HERIEL 8.1 6.6
HETErT | L EnamEL [ Ga
=
S
2
>
avoy—+ 13.66
#a w
H ;"a‘ﬁ:ﬂ!ﬁ 7.0
asn j ™ s
i * B eer
| I 0.3
'; 2 & ] 0.5
B EX) 0.5
BTEE o
eI 6.6
DL=530. 000 DL=530. 000 W0, 1413 0010, 2

R2 =+ EE439
I1%4% %

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es HEE (6/16)
#R 1:100 HEES ‘ 12/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




flr R (7/16)

$=1:100

NO. 2+7.00

GH=556. 14
FH=556.190

600

V562.34

W EIE £

750

V556. 14

ET) [ @12
wEl
Bl . EL] 2.0

q &
SL=16. 1 % EEEE (D)

H B 5 6

BEI

EEER (HL) t#
1 1.3 (1.6)

BEI 0.

I® 1.3 (1.5)

#

wEl
* By u—H
+
I

_ [Braxz4.0
1Bnax<4.0 8.1
Brax<1.0 0.3
I| BEHS |BHRES (4.9
&

]
*®

} |

B [ |

HEBEMES

2 B BRA -4
H % | % B 6. 60

LtEBS 6. 60
B e TREE 6.60
4 £ % B |
B o8| TERS
V5 - FREL 023 | (0.06)
SERBUEL 7.0 6.6
ERABEL [ 61

E

V540,65

ohE |

H.W.L=539. 65

cwE

6700

sl EDZ T 8.10
L EE 7.0
h f HENHRS 7.0
> T 2.9
R
| o ¢ 1.3
'; 2 B 0 0.5
8 ET) 0.5
BTEE o
eI 16.1

DL=530. 000

NO. 2+7.00

T84 R2 =+ EE439

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es BER (7/16)
#R 1:100 HEES ‘ 13/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




f R (8/16)

$=1:100

X BB TANESRE.

NO. 2+10. 00

GH=555.990
FH=556.034 1 -1

GH=555. 408
FH=

Vv562.29

Vv562.05 ~

0 7000
750 2750

2750 5¢,750

6800
7000

V555,98

V555. 49

V555.05

% B £ 8 | & @
B24.0
B OB | 2558<4.0
B<2.5 0.5
840
B otk | 2558<4.0

&
= B<2.5
T} [ 6.0
+
I

s F 9 [
7| R EX) 23 2.0
=Ty W
BB (Y1) ;:]
EEBY (EL) Ex ) DL:545 000
Ex ) 1.3
WET
E3) 1.3
EERE wE

#
B EDYTEL
k4
I

3 &

[ Bmax=4.0
15Brax<4.0
Bmax<1.0 0.3
RURER
# &

-

]

[
"
of
@
Ky

HEBHARS

5 H.W.L=539.53

£ ® BR[| RC-40 1.3 0.9)

AN 6.60

IEAE 6.60
B8 TRBE 6.60
EIEIEN] |
% 4| tEEE
a5 Y- FREL | (0.08)
HERIE L 1.0 6.6
EMAMEL [ 6.0

ob 3 | e 8

i

a8

DL=530.000 DL=530.000

4200

NO. 2+15. 00
GH=555. 809
FH=555. 767
0 7000
750 2750 2150 750

ETE 499
o I 3.6
| HEMHRSE 3.6
> t#
7 *E T 06
i Lo
& 2 R )
H )
EEET [ s
[REDZIE 13.8

% B £ 8 | & &
B=4.0
B OB | 255B<4.0
B<2.5 i1
8240
w4 [2558<40
= B<25iL 016
B3
tlgl A 9 e |
b 7] E1
=7y
. ) EX)
ERE (1) — o
EEER ED| B
Ex 4.1
o T
ET) T4
#
EEEE—oy
* ERXDE
Bty g [Brexzi0
o 1<B0ax<d.0
=T
Bmax<1.0 0.4
I[avyyu—+ 1.22
] 13
)
2 L
= W@
HEEHRS
A BB BE| RC-40 2.0
IR
: IEHE
i
B8 TRES
FIEEIEN] |
& m B | tERE |
MEXZIEITD 015 |
F BEEREL
SEEETD [

NO. 2+10.00~N0. 2+15. 00

13y | M EL BT LEs sEIs
BAEE | —REE 4008

IFER | SHARESUES (FI4H)

BE4 BEE (8/16)

R 1:100 BHEES ‘ 14 / 24
244

EE K]




DL=530.000

NO. 2+17. 00

GH=558.18
FH=555. 656

7000

750, 2750

2750

V555,60 1.50%

3000

700

1:0 2

) 3

1.50%

f R (9/16)

& #

£ @ |

@

B24.0

2.558<4.0

B<2.5

B24.0

2.55B<4.0

)

#

i
#® B<2.5
t
T

A9

#eEl

Hl

3]

r=7ohv

BEI

EERR (1) 19

#El

BB (EL) k3]

[1T] ET)
® ® wEl

ES]
EEERE WE

Bmax24.0

1=Bnax<4.0

#
* ERZIE
E3
T

Bmax<1.0

k[ =

HEAMRS

B | [ |

B

AR BRAE

£ % B

LERE
€ TERE

HEN]

o3 | ki
w| B (w

B % | PEBE

aAvy U —bPREL

WEEREL

W

ERABEML

X BRI A-—OF7IC&230THS,

$=1:100

DL=530.000

NO. 2+17. 00
GH=558. 18
FH=555. 656
7000
750, 2750 2150 750]
N
V555, 61 1.50% 1.50%
S —
2| o vs54.55
2 o
ol 3
~ &
Cvssr oy
g 4
B : z B W] 5@
- 8240
q B K [255B<4.0
B<2.5 1.5
8240
#| @ 4 [2558<40
I3 B<2.5
ES 0.7 0.6
% tig| A9 el %
g lal__.. [ B
: r=Tvho e
. ) )
im0
| [zmEzp@s| +»
) 2 0.5
® B wEl 4.9
ES2 1.5
FlEERE s
* ERXDE 0.63
|+ - [Bnaxz4.0
2 B 1=Bmax<4.0
2|1
Bnax< 1.0
HEPYIE
&
L B
W@
WEMHRS
2 BB A| RC-40 1.5
x 4 2| % R 6.60
; TEBE 660
AT T 660
FIEEIEN] |
Elm B | rRBE |
MEXIESTD [ oo
HEETTT 45 6.6
QT [ 20
X WBBRER—DTICE2E0THS.
NO. 2+17.00
R2 =+ HEE4395 =
I
*2 RELHE BEIS (D)
BRE&%E | ~MEE 4395
ISEHR | SHTRASUES ($353)
HE4 HEE (9/16)
BR 1:100 REES ‘ 15 / 24
R4

EE K]




H.W.L=539. 46

DL=530.000

L]

(10/16)

6000
(7000~5000)

NO. 3
GH=552. 847
FH=555. 488
V560.91
0 7000 1380
150, 2750 2750 750 ‘,'
w555 44 1.50% . 50%
S v554. 91
. 554,55
ol
=
2|
3|
V550.75
= 0
=
3|
¢ Z % = W] & &
S Bz4.0 1.2
E B K |2558<4.0 11
B<2.5
B24.0
H| % 4 [2558<4 0
73 B<2.5
q H ET) [ 11
% tlg| A 9 e |
fa 1) N, )
sL=8. 2\\¢ L f-Tvn
l )
R (01) e
EmEY @) 1B
Ex’) 2.6 1.4
T
EX) 0.6 2.4
Flemer— o
® ERZIEL
|+ _[Bnaxz40
_ V540.46 I e 21
= Brax<1.0 0.2 0.9
3 Ilavyy—+ 4.8
: 0 &
£ # = &
o| B &
HERHES
£ @ B E| RC-40 0.6 2.4
g NI 6.50
N LTERE 6.60
i
B TRE® 6.70
FIEEIEN] [ 188
Gl 8 | rERS | 178
MEZIESTT 008 | 009
B SERREL 45 6.5
E e EAT) ‘[ EEamEL [ 2
) 3.8
o| HEEHRS 3.8
¥ EY)
[ v 04
| . ¢
'; 7 R )
H EY)
EEEE WED
R0t

$=1:100

H.W.L=539. 41

DL=530.000

NO. 3+3. 00
FH=555.316
0 7000
750, 2750 2750 750
V555 26 __1L.50h
~1 o V554 .55
. D-25
D-20
S D-20
s D-20
D-20
o D-20
- D-20 e
ol D-20
3
£ D-20
= D-20
D-R5
e = 5B E W] & &
- DX=24H N B24.0
DX-24H »? B B [2.558<4.0
B<2.5
= DX-24H B=4.0
DX-29 B @ 4 [2.558<4.0
V545. 60 DX-3 % B<251p [
) B
tlg| A 9 |
o z|w 5
\§ fr=7uhy b RET
SL=6.7 ; EX)
) HEEY (9)
EEER G|  tH
Ex’) 3.6
i T 15.3
S - ET)
S Hlamue wal 0.5
® ERZIEL 0.06
|+ | Bmax=4.0
V540, 41 I e
=E Brax<1.0
HEPZIED
[
2 Ll
B &
HEEHES—
& B B ®| RC-40
REEIEN]
tRBE
1
B2 ene
FIEREAEN] T
Gl s | rERS |
MERZTES T |
W[ BEEREL
EPTTES 12.01.5.71 SETEET I
gﬁ 7 5937
o| BEHMHRS 6.9.3.7
Y ED)
H T [
e =
#
4 ET)
EEEE (oo
®ffavH Y-+
NO. 3~N0. 3+3. 00
R2 =+ [EiE439% =-
I N
*2 RESEE HEIS (D)
BRESE | -REE 4305
ISEF | SHHTRESWES (FIFF)
H&E4 BEE (10/16)
BR 1:100 REES ‘ 16 / 24
E3o ¥

EE K]




fabr (11/16)

$=1:100

NO. 3+6.00
GH=547. 86
FH=555. 140
1
12.10
v559.52 )
0 7000 4900
750, 2150 2150 750
o
S
3
3
v555. 09 _1.50h __1.50% _ "
=4 »
> Y V554.52
~ V554,30
ol
3|
2|
3|
Z2 £ 8| 5 @
B24.0
B OB | 2558<4.0
B<2.5
840
B 4 [2558B<40
= B<2.5
943,45 & @ ET) [ o4 11
= = HE wEl [
2 © lwl o, EY)
N -7y
~ R 1%
ERR (01—
EEER (BLD)| 1
E3) 1.5 0.6
Jv540.87 L T 23
= EX) 0.7
H.W.L=539.37 U —
= ® ERZIE 0.06
N Bt|y g [Bnexze0
L - T<Brax<4.0
=T Bnax<1.0 0.2
Ilavyy—+ 3.33
[
E] L
W@
s HERRES
208 E®® 5| RO 07
QL(L AN 5 50
N ; TERE 6.60
: i
- avou—+t 2.20 B E TRBE 6.70
= I 2.5 FIEEEN] [ s
’;‘ EEERES 25 Al@ & | TEBE | 5.3
i v X)) MEZIEST [ o2
[ [; HErTD ER
| N ‘EwamEL T
- R )
#
H )
EEET [ s
[CEDZ D
DL=530. 000 .

R2 =+ EE439

g =
I%% REA%E MEIF ()

BRE% | —REE 4395

I%EH | SHARASLES (F353)

H&Es HER (11/16)
#R 1:100 HEES ‘ 17/ 24
&it48

$x%% | ABRENKLLRER RIZHEH =HF%




H.W. L=539.12

fabr (12/16)

V554.16

NO. 3+12.00
GH=545. 42
FH=554.780
0 7000 4600
750, 2750 2750 750
v554.73 | __1.506 1.50% ”ﬂ N
s 56405 JF T
.
Bor. No. 2
=
Nili e
0_10 20 30 40 50
ROD +
ATRBE e
BX2T7E o
20 40 60 80100
/32|
/3
V542, 45

DL=530. 000

g

H H 5 6

gl 59

Bl

u )

f=Tvh b WED

18

ELESACES WE

EEER (EL) t#

CEES

[

t#
® 2 Bl

4,; 18

EEBE WE

® EXTEL

+ _[Bnaxz4.0

1=Bmax<4.0

Bmax<1.0

4.21

2k =

HEBRMES

£
B [ | |

R BE

W R RE

tEBE
B2 aas

ohE [

EEIEN]

B O# | FEHS

(=]

avyy—bBEL

SERDEL

BRAREL

$=1:100

H.W. L=539.00
DL=530.000

NO. 3+12.00~N0. 4

R2 =+ HEi#4398 =-
RiEAEE METIFE (3)

—BREE 4398

CHTRABWES (F35E)

HER (12/16)

E%%‘ 18 / 24

FH=554.300
0 7000
150 2750 2750 150
V55425 1.50% 1.504
S
~, 553.55
ol
=
3|
I
/<
A
R
% £ 8 | & @
B24.0 2.1
6.00 B OB | 2558<4.0
V541,95 B<2.5 0.2
g © 524.0
2 / © #| @ 4 [2558<40
= = E B<2.5
<
L g ET) [ o3 1.1
)@ W I
b 177] PR X
f=Tno e
. EX)
R (1) e
EER (ED)| 1B
E3) 8.5 0.6
® B wa
U ) 0.6 0.7
#
AEBE RET
® ERZDED
EIEAM _ [Bmaxz4.0
1Brex<4.0
k4
Brax<1.0 0.2 0.2
Ilavyy—+ 3.71
L)
® uw
W@
HERHRS
£ @B B[ RC-40 0.6 0.7
REEIEW: 650
: TERE 660
i
B E TRBE 6.70
FIEEIEN] [ 440
&l ® | rEAR [ <30
MEZIEST [ oo
] HERIEL 3.3 6.5
‘[EwamEL T
I1%%
BRE%
IHEH
H&Es
#R
&it48

EE K]




fabr (13/16)

$=1:100

NO. 4+5. 00 NO. 4+5. 00
GH=558. 18 GH=558.18
FH=554.000 FH=554.000
0 7000 2400 0 7000 2400 ,
750, 2750 2150 750, 2150 2150
By
N
R
w553 95 1.50% 1.50% (({ V553,95 1.50% 1.50% g
o
3 V553,30 T
r~y
\V 0.7
y
I/V
p >
o>
—_ g Z2 £ 8| 5 @ o~ g 2 B = 8| 5 @
3 8240 .9 o 8240 5.0 0.6
el B K [2528<4.0 = q # K [2528<40 05
'_ B<2.5 B<2.5
8240 - 840 9.2
B Bt [25<8<40 2 B B th[2558<40 4.7
= B<2.5 I juid = B<2.5 31\
E) ET)
— J tig| &9 WAL | tlg| F 9 WEl |
T{Hll_ gy L® b 1] PR 12
Vy;’ -7y -7y
& R . ) e ET)
'} ERE (05) o - ERE (01—
¥ EEER (D] 1B ) EEER (ED| 1B
ES2 3.3 0.3 ™~ E3) 5.1 0.3
w541 95 Jy o T T 2.8 I T 6.5
EX) 0.7 ET) 0.7
= WMTe HleseE—a s FlesrE—a 7
S| © * ERr 0.06 ® EETEL
S %)+ _[Braxz4.0 %)+ _[Braxz4.0
N SIo1E Bismeceo il T<Brax<4.0
=E Bnax<1.0 0.1 o =T Bnax<1.0 0.4
HERZTE o HERYIED 42.53
PR H.W.L=538.93 z PR 52
TEw v TEw 18
. W& = - W@ 15.2
U HERHRS HEEHRS T3
X B B B[ RC-40 0.7 £ # B B| RC-40
IR 6.50 IR 6.5
; TEBE 660 3 TEEE [
ile e TRBE 6.70 1500 il TRBE 6.66
m| % %% B [ 29 MEIEIEN] [ 20
aln & | rEEE | 260 aln & | rEEE | 260
NEIES T | NERZIESTH |
B HERREL 2.9 838 ] HERIEL 2.9 9.0
BET It | L EnamEL |
X WBBRER—OTICE2E0THS. X WBBRER—DTICE2E0THS.
NO. 4+5. 00
R2 =+ [EiE439% =-
I
e RELHE BEIS (D)
BRE&%E | ~MEE 4395
ISEHR | SHTRASUES ($353)
HE4 HEE (13/16)
BR 1:100 REES ‘ 19 / 24
R4
$2%% | BRRAHKARRR RIEHH =HFé



fabr X (14/16)

$=1:100

X BEEEGTARNESR.

2 -2
GH=553. 988
FH=
NO. 4+10. 00 NO. 4+15. 00
GH=551.531 GH=550.073
FH=553.700 FH=553. 400
w
As
V553,47
0 7000 1600 v558.13
750, 2750 ) 2750 750
0 7000 1800
< g 150, 2750 L 2750 150
N S
S
3
1.50% 1.50% ég
V553,65 _ = . v553. 35 1.50% 1.5
V553.13
V552.78
DL=545. 000 _5.00% BHEDE)
o
A
—
>
4
~
o A
% £ @ | & @ s o % £ @ | & &
o B=4.0 3.7 =3 Bz4.0
- S| B B [2.558<4.0 = B K [2.558<4.0
S = B<2.5 B<2.5
= a 824.0 i 8240
g B @ 4 [2.558<4.0 3.2 o g 4 [2558<40
q 73 B<2.5 1.1 73 B<2.5
3 E) [ o4 1.5 ET) [ o¢ 1.6
tlg| K9 WEI | x| A9 e |
4 7] . £ o 7] . t#
-7y o e
, N T = NN T
EEER () o R EBE (5)
EEED EL)| 1B EEEY EL)| TH
ES 1.1 0.6 Ex) 1.7 0.3
L T 3t T
EX) 0.7 ET) 0.7
N FlraeE— 15 FlrEeE—5 29
5 * EPZDEL ® X
#| _[Bnaxz4.0 W)t _ [Braxz4.0
M R e 1500 N R e
=T Brax<1.0 0.3 0.2 =T Brax<1.0 01 0.2
Ijavou—+ 23.52 4.31 I[avsy—+ 23.04 2.69
H.W.L=538.85 y o LB H.W.L=538.77 y  p BB
~z # @ 40 @ 6.3
= N 3.0 = A 0.6
1500 HEENRS ;; = o HEENRS ; = o
= £ BB A RC-40 0.7 BB A| RC-40 0.7
({,_f(\ NN 650 RN 650
rEBE 6.59 IET 659
SRR B T 560 N 7T 566
PIEEEN] [ 210 MEEIEN] [ 230
g Bl % & | rE®RE | 200 Gl s | rERS [ 220
aen NEIESTY | MEZIES T [ om
B SERBUEL 3.7 1.1 B SERREL 3.6 8.8
‘[EwamEL | man ‘[EwamEL |
DL=530. 000 DL=530.000

NO. 4+10.00~N0. 4+15.00

T84 R2 =+ EE439

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es HER (14/16)

HEES ‘ 20 / 24

&it48

$x%% | ABRENKLLRER RIZHEH =HF%




(15/16)

$=1:100

L]

NO. 5 NO. 5+5. 00
GH=552. 680 GH=552. 747
FH=553. 100 FH=552. 800

0 7000 1300

0 7000
750, 2750 2150 750
750, 2750 2750 150
1.50% 1.50%
Vv553. 06 — —————— V552,75 1.50% 1.50%
N
o
4
Y,
q 5 B E B | & @ o~ s # E @ | &8
: 8240 - o 8240
< # K [265B<40 0.9 S = % K [2558<4.0
) B<2.5 0 2 B<2.5 2.0
< 824.0 - B24.0
S ™ | g t [2.558<4.0 Ml g 4 [2558<40
s : B B<2.5 = OIZ : il # B<2.5 = 217
; 7 ;
C R T o5 |12 o 8] B9 e |
o 7] . 1® g it 7] P 1®
r=Tvho e = vho
I ] ) N T
N im0 HEER D)
| [zmzm@n] +» | [zmEm@D| +»
o ET) 0.9 ET) ]
S KB ww [N} R v T 5.3
~ E) EX)
flameE—ny 5 FlaseE—y s
z EPZIET ih * EPTTEL
5[+ o[ Braxz4.0 |+ o [Bnaxza.0
. 2 B 1=Bmax<4.0 ™ 2 B 1=Bnax<4.0
=* Bmax<1.0 =T Brax<1.0 0.2
HEPZTES 25.37 1500 HEDZTED 19,40
_ S 2.7 ] W @ 9.9
H.W.L=538.70 ] g o HH Lo538. 62 : ¥ B .
= B & 2.1 WL= . B & 9.9
HEEHRS o1 BEERRS s
X ® B A R4 X% B A| RC-A
EEFEEN] 6 50 N EEEIEN] 550
1500 s u [ZERE 550 Al i o [2ERE 559
TRH®S 6. 66 NW\ TEBH® 6.66
W B %% B [ 160 NEEIEN] |
el ® & | tEBE [ 110 & m 8 | tEBE |
PEZTEN T [ 0w PEZIEY T [ o8
R R WERMEL 43 8.3 §[| BERBEL
Ll BETEYT I HETEYT I
=5 o
EhEEE
DL=530. 000 DL=530. 000
NO.5~N0.5+5. 00

R2 =+ EE439
I1%4% %

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es BEE (15/16)

#R 10100

HEES ‘ 21/ 24

&it48

$x%% | ABRENKLLRER RIZHEH =HF%




fabr (16/16)

$=1:100

NO. 5+10. 00 NO. 6
GH=552. 451 GH=551.874
FH=552. 500 FH=551. 900

400,500 7000
750, 2750 . 2750 7000
750 2750 2750 750
V552 44 1.50% 1.50%
1.50% 1.50%

6500
1:0.5

% £ @ | & &

E) [ o6 |12
wEl
§ [ N )
50050 -7y
ET)
§ (1)
EEEE (01—
EEER EL)| Th
ES’)
T
EX)
rEEE #eEl 0.7

3
* Gy u—H
ES
I

wl A

]

[ Bmax24.0
15Bmax<4.0
Bmax<1.0 0.3
6.57
5.9
2.2
5.9

[
m
v
N
|

=

]
*®

} |

H.W.L=538.55

HEBEMES

T
W B[R E 6. 50
LERE 6.59
B TRE® 6.66
EEAEN] [ o080
B O | FEBE [ o010
avoy— FREL [ o4
SERBUEL 59 1.3
ERAREL |

EIE:
B [ | |

ohE |

cwE

]

DL=530. 000 DL=530. 000 NO.5+10. 00~NO. 6
sy |R2 =L EES

BRE% | —REE 4395

ISEHR | SHTRASUES ($353)

H&Es R (16/16)

HEES ‘ 22 / 24

&it48

$x%% | ABRENKLLRER RIZHEH =HF%




- EEZERE s=1:250
sgg | |

i ]
BEWHE I:} Ix 5T 10'2 I 0 S
L 19.587
oL 36.429
ST 538

ma

s S G . ey e Y e NS ' < < 0 — N —

—SSS——_—
NS AP — S W)

\‘_
‘:ﬂawgﬁhmwu

.

H=559. 200

559. 11
BEMNERT S VK
568. 14
ABEVITFORBE [ #h: #BmesoRseER v 469 ]
i X 9 A # # w8
mitEEy | HER | BOE | HER | BAE
(kn/h)
80 VoAl 85 -
60 2 60 40 R2 =+ E#E4395 = -
50 40 35 1548 RAA%E HEIF (3)
40 Ve an s Lot 30 BRET | —REE 4308
20 25 20 ISER | SHHRASLES ($348)
) AN ABROBRAAOLT RE () 254 BEERE
87 FORME ‘
&R 1:250 REES 23/ 24
BEEEV=30kn/hE LTHET 5.
L= 73“32'75 =27.50n — 30.00m e
FR%4 | GEREHLARER RIBEH =#Fs




BER (2/2)

oHy
3

BEER  s=1:10

AREE
A& F%&EFCBR 12

\ x® B BEMBRT7TRAI7ILNER

—
Hr

8l

5%

R

100 |50
_/

LTRE®E MNEREREG

TRBRE BEISYYY—5 Y

200

o
i
%lz
S

\ x B:.BEMBRTRI7ILLEAY

100 |50

LRE®E NEREREG

t = becm
t =10cm
t =20cm
t = becm
t =10cm

B E ]

R2 =+ HEE43IS =

I1%4 REA%EE HEIZE (3)
BRE%E | -REE 4305

ISER | ZHHRALBWUES (F378)

R&E% BER(2/2)

#BR B ® ‘ HEES ‘ 24/ 24
244

EERBENKARER RIBEH =HTE



